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[bookmark: _GoBack]Directions: Using the party platforms provided on our class’ website, identify key information on each of the party’s position on issues (especially on slavery).
	Party
	Northern Democrat
	Southern Democrat
	Constitutional Union
	Republican

	Major Positions
	
	
	
	

	Candidate
	
	
	
	

	Support Base (Regions/States, etc.)
	
	
	
	



Based on the information in the chart above and the maps you’ve been given on the back, how would each of the following have voted in the election of 1860? Give an explanation for each answer.
1. Northern industrialist – owns a textile mill
2. Southern planter – owns over 100 slaves
3. Southern small farmer – not a slave owner
4. Tradesman in Missouri – not a slave owner
5. Northern factory worker – works in the textile mill
6. Western farmer – has a small family farm and no slaves
